APRIL 2017 60148/BPZ6B/BPF¥6A/
BPW6C/BPG6A/BPM6A

Time : Three hours Maximum : 75 marks

SECTION A — (10 x 2 = 20 marks)
Answer any TEN questions.

1. 'What is Management accountipg?

Gloamamen sarédwic) crenpme erman?
2. . Mention any two advantages of management accouni:ing.

Cuamemenio seamréwclen peanenloseT @) amerd: o).
3.  State the meaning of trend analysis.

GuitéE ey eraTLigam QUITHET 5.
4.  What is common size statement?

Curgieurer jeme| oiHléEms eTemmTed cTammen?

5.  What is a Solvency ratio?

Séa AHSId erémmmed ereman?

&

1 B Com

6. erite down the formula for Capital gearing ratio.
tpagan Quss eN8sib srapid GSHrsHman er(pss.

7, State the objectives of cash flow statement.
Qrrés QL L iflsmawer Crrésnsmars smms.

8.  What is Working capital?

—

HEDL-(LPEND (PSE GTEIDTED GTEIE?
9.  Define Capital Budgeting.

Wselar eurey Qrae) L ib UL,
10. What is Pay- back period?

Hmibu Qumb STeLd eremmTed GTemen?



11. What is Capital structure?
CPDFEN DIEHLOLIL| GTETDITEDd GTemen?
12. Whatis accounting rate of return?
. sansALSle) Hpbu QUMD GuL Iy GTETDITE cTaTeT?
SECTION B —.(5 x 5 = 25 marks)
Answer any FIVE questions.
13. What are the duties of management accountant?
GLo@eRTento SETEETETIG GL aoaeT Wing)?
14. Explain the importance of financial statements.
PHlue ifisamasuden wadusgleusdeear efeu.
15. Tind out current asset, current liabilities .and inventory v‘alue
from the following information
Current xatio 2.8
Acid- ‘rest ratio— 1.5
Working capital Rs. 1,62, 000
lﬂlsumu@m saaRs@ars Aaman® Bl Qenss), pl_uq Qurrguuq&m
mmgjmm Fr&Sl(mLL m,é,]ulﬁlmsma seandE) (5 5.
Bl eflflgn — 2.8
&P Gergerar efldlgb — 1.5
Banl_penm Wwae 5. 1,62,000.
16. Calculate funds from operations from the following:
Rs. : Rs...
To Administration expenses 25,000 By Gross profit 2, 15,006
To Selling expenses 16,000 By Interest on + 5,000
investments
To Depreciation’ 26,000 By Profit on sales of 4,000
L machlnery
‘To Loss on sale of building . 6,000 :
To Goodwill written off 5,006
To Discount on issue of 2,000
debentures:
To Net profit 1,44,000
2,24,000. 2,24,000
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Bbgiavgrer HGLL g6 @Bl FlevasaHlliSaeands Qanarh
(#1) LrmuED ml—@mm W5 Sifldens
(=) S @l &gﬂasmsuﬁﬂmmum ST Qais.

2012 2013 2012 2013
QumgiliLjser [ m..  Qansgisser . .
shl&w @gé» 1,20,000 1,50,000 Qumrgdl 1,00,000 1,25,000
sLafHEGHmT 37,000 25,000 flo>  wpmw 75,600 90,000
o gl as;'_Lq_L_ﬁS
Qa.om &.@ 15,000 17,000 rjemi 2 flanid 7,000 9,500
@eomu ml 60,000 69,000 QprEsn . 17,000 23,000
&G
sLareflser 33,000 - 13,500
2,32,000 2,61,000 2,32,000 2,61,000

24.

2013 %Gﬂﬂ'@&@lﬂu‘l Qurrgf)] LOHDiLD ;f,la)m 51_Lq_|_g,ﬂr,o&rrm Gg,u_lermLo
apadpGui ¢p. 20,000 wHmb em. 25,000.
List out the merits and demerits of Net Present Value method.

share Blsr iy (g)mgpuﬁlan BETELDSET, LD[DQ]LD Semwaener
Ul igwiell Gs. : '

v )
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Sparamib sEeOSET paid e Mamowrent fifulmand saréd (.
sr&EmUILY FpHél: 6 gp%p,rp ' |

apsdlen spHf N (Nhumen SiLssb L5)) L2

fevas Qerggiser spHdH eNHg0n (éﬂﬁ;umm SIL&&LD 10g)): 4
angg,Lb Beru aﬁ]é;]‘e;r, swHd : 20%

QS_L_GUT;TQﬂ‘SGi'I" sipHél: 2 LOMGEIEET '

sLabGsMT &pHE : 73 pnl;esc;iT

Qm&gg, wrub . 60,000. T

&Lllﬂ wHmIb &y @srens . 20,000

Pnds srsdmlivy Qsr_ss #Uéﬁéu@mmé a;m'_u;_gmb V@. 5,000
QP ELNE 2_cTars.

23. From the following balance sheets of Hindustan Ltd., prepare

(a) Schedule of changes in working capital

(b) Funds ﬂolw statement

Balance sheet

) 2012 = 2013 2012 2013
Liabilities Rs. Rs.  Assets Rs. Rs.
Equity share 1,20,000 1,560,000 Plant 1,00,000 1,25,000
capital ‘ .

Creditors 37,000 25,000 Land and 75,000 96,0‘00
Buildings

‘Bills payable 15,000 17,000 Patent rights 7,000 9,500

P&L account 60,000 69,000 Cash - . 17,000 23,000

Debtors - 33,000 13,500:

2,32,000 2,61,000 2,32,000 2,61,000

Depreciation of Rs. 20,000 and Rs. 25,000 have beenv charged on
Plant and Land and Buildings respectively in 2013.
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Wemaucpio efluprisafalBhg Qawuoum @ Hulmand samrésHs.

. . .
;_E]r'reurr& Qseve 56T 25,000 Giorgs GevmLid - 2,15,000
epuenen Qeeyser 16,000 Q,og,éﬁ@a;df LBQ eullg - 5,000
Cs\ipTenid . © - 26,000 Quibdr Apuener 4,000

gipevLd Gemud .

sligl b’ ellpuener  epeoid 6,000

BLLLD

pﬁ)G]u'u_lr'rGur_rés@&@ﬁmg . 5,000

sian LS Qeuefluip t5g | 2,000 :
I, & '

Hlar Georlid 1,44,000

2,24,000 2,24,000

17. Prepare a production budget from the following details
Product Sales Opening stock Closing stock

Units Units Units
R 2,000 10,000, 3,000
S 3,000 15,000 5,000
U 4,000 13,000 3,000
P 3,000 12,000 2,000

SpETEmiD GSlLIpThEET apaid e HLsE [ SidldanmnQanan su i Qe 1

QumpL_ser efpLienen Qs sr&AmuL Qnd sraEdmriy

SR GSHeT S|V G &6 S\VGSET
R 2,000 10,000 © 3,000
S 3,000 15,000 5,000 .
‘U 4,000 13,000 3,000
P 3,000 12,000 2,000

18. Explain the importance of capital budgeting.

wpsdar aurey ewey Hi L siflsmasuiien gpadluggeusdamarn eleufl.
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19.

20.

21.

Evaluate the following two projects on pay-back criterion and on
post pay -back profitability criterion '
. PrOJect X Pro;ect Y

) Rs. Rs.
Original investment . 35,000 15,000
Annual cash'inflows . 15,000 7,500

Ecoilomic life of the project 7 years :3years

Hemeumd @yewr(h @LL@&GG)GTT Q@Lbu QuoIb Erebd HYILD Q@Lﬁu

Gugd stesdpe DG sdar Gerub o der waonudd wAHSE j

Qauis
SrnX HnY.
. -
L-@IEHLOWITET APS&(H 35,000 15,000

e o eraf_( Qrrésd 15,000, 7,500

S shlen eumpsens smed 7 years 3 years

SECTION C — (3 x 10 = 30 marks)
. Answer any THREE questions.

Explain the limitations of management accountirg.

Guoarameo samsdwaar cuamiuampsamear sflaufl.

From the following assets side of the balances sheet of

. Sundaram Companies limited for the year ended 31.3.2006 and

31.3.2007, prepare a common size balance sheet for 2006
and 2007

Rupees in lakhs
Assets 2006 2007
Cash 100 140
Debtors L 200 300
Stock : 200. 300
Land and Buildings 400 370
Plant : 300 270
Furniture 100 140
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22,

spsTd  Hpeensfer 31.3.2006 wpmd 31.3.2007-5 CsHCGwnE
yeuaLynd  Qnouublees  @ilindar  Qersgiser  LEH
aaﬂasa;uun_(ammg Qomas Oeraw@® 2006 LD[DQ]LD 2007 b
<@rR&ENu Qurgiemar 2ieray é{gﬁamauﬁlmm S G]&u_us

Qemggismer  epuml @er sdHe

2006 2007

Qyrésid 100 140" -
' ' sL_anmaflger ) | 200 ° 300
srsA LY . 200 300
‘IﬂGI)LiZ; wHmb s gl b 400 370
Quing) ' 300 270
SIDDSOT 100 140

From the following details prepare statement of proprletary

funds with as many detalls as possible

Stock velocity : 6 times

Capital turnover ratio (on cost of sales) : 2
Fixed assets turnover r.atio‘ (.on ;cést of sales) : 4
Gross profit turnover ratio : 20%

Debtors velocity: 2 months

Creditors velocity : 73 d'ays‘

The gross profit was Rs. 60,000.

Reserves and Surplus amount to Rs, 20,000

Closing stock was Rs. 5,000 in excess of opening stock.
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(¢) Municipal Corporation for promotion of

family planning : Rs. 42,000
(® Minority Community Corporation Rs.15,000
(g0 Natinal Children’s Fund Rs.5,000

aw. sCamey euisaflar eluphsmers Qsram®, s@bse GCLrss
auponend .4,50,000 erenp Hlevovuder auflE@lul L euBLTaTS®S
SaEE (HE.

€.
(@) gaapierd Crw @muss Aaasder Hi 12,000
(<) el smB S GugTLeNDd 8,000
(@) <ofs B 15,000
‘(FF)‘ @B s @rUsE Henand HS 14,000

(2) GOWLUs_ELUT_ ST LTBSTTL.ASHE;

Slafigs QFrans 42,000
(2ar) Amurenenoudert FlS 15,000
(@) Csdlu Gypeossdt Hf | 5,000
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10.

Maximum : 75 marks
PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
Who is an Assessee?
aufl B9 D@ Aweurt eremiauir wimit?
What is a previous year?

PHESILI LD TETDITED GTaTe?

What is casual Income? Give two examples.

sngnyent cumLTaisSnE e[ o gryarisdr sadl efeu.
What are the items included in salary?
‘sbuemhiseT geenlan Sip cufl AASLADE ML euBLOTETIRSHT WiTema?

What are the perquisites taxable in the hands of all Employees?
siaggl  uafluraisei_gdand  afl  AHINDG o

. QLSTBISET WTeh6u P

What do you mean by Pension?

@uigpdluid eremugamen LM Beli sileug wrg?
What is income from House Property?

S (& QS b5 euBLOTRILD GremmiTed Gremen?
What is meant by Actual Rent?

2 @IEDLD QUITLLGNS GTGITLIBET QUIT(HET GTeimen?

Mention any two expenses which was not allowed from Business
Income.

dlurury  aumorasHedr  oE@bAESILLTS  gCaayid @mm@
Qsawaysmers GG S.

What is meant by Deductions?

&6 &6 ereimed cremen?

B-Com - InCome Tax buw ond  Prachive -1

)

A
-



11.

12.

13.

14.

15.

How Income should be Assessed?
au(nHLOTED, ereueumm wHIIEH Galwts L Geauam(Hid?
Explain E-Filing.
WSlenrangm) 5&&5@'\) — lleT&Es.
PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.

Mention any five incomes which are exempted from Income Tax.
augpomenr auffl elewssaflEsiLl L. QUHLDTEIAISET ;chgij. wbdenens
FYS.

State whether the following are Agricultural Incomes.

(@ Income from poultry

(b) Income from a farm house

(¢) Income from Bricks sold

(d) » Gain on sale. of farm house

(e) Income from fisheries.

Spaarenel, TeuUFTIL QUHLOTETLON? GTETLISENENSH So s

(<) CamBiuagraerrilelmbg GUDHD aubLOTED

(<) Ligraan oS iy emba QUDD eugponemd

(®) Qsrsd elppdd Qupw eumHLOTEaTD

() LaTeent el igemer eliDnSTed QDD OMULD

(2.) Be LIGTEERTITGD DAL B 6(THLONEILD.

Mr. Alex resides in Chennai and gets Rs.10,000 per month as
basic salary Rs.8,000 per month as DA (entering into service

benefits), Rs.12,000 per month as HRA. He pays Rs.10,000 per
month as Rent. Calculate Taxable HRA.

Hm. Qs Qssimanie aflsdpn. SigqliueL sbuembd a5.10,000
@m wrssdHhE slmoriug (Fbuard vwemm e Gsibss)
.8,000 on wIEsHNE. LG eriesi ug @.12,000 en
wresdHG. S @.10,000 gaCaurm wLIFEHNE QML OEUTSE
Qegugdenmi. efl AHLGpELLLL LG er sl Lgemw
SaT&EE (. . :
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24.

urLeng, efleney
QuinslysHen Coiomend
Guengg gmomenser Catioreamnd

Gor L &nit eurkiflwig

(a) Allow Rs.5,000 as depreciation on Machinery
(b) 50% of Motor Car expenses relates to personal use

() Miscellaneous Receipt is approved by LT. authority as
Business Income '

(d) Motor Car has no Depreciation.

Qaru B -sewrésflenan Qargar(®, Qg,méld) QLTSS a;afcr@
g Sseyd. A : i

{m. .
45,000 Qwrgs @emuid 2,25,000

8,000 9peu cuwrernd 1,50,000

2,000 eapogen HTWLID 1,00,000

50,000 @gyeuwoiend  1,25,000

s QFeeygEer ° 3,000
efembLiyid (Lewrd) ' 25,000
By @emuib 4,67,000
' 6,00,000 6,00,000

(1) @UJ‘L-F)@U‘&;QOZ)‘ .5,000 g Caiomeons aaﬂés&mi.b
() smi Qseveillargdld 50% Qembs 2 LCWNESHDETS

(8) @s7 aumwrand Aumzed, wels aufl SgeoTsamTe, QsTd
aupLoranons mSAslulHereng

(F)  Gurlimt srmée Cauliomabd Gdoama

Mr. Ganesh’s previous year’s Gross total income is Rs.4,50,000.
He has made the following Donations, calculate-his Net Income.

(a) Jawaharlal Nehru Memorial Fund Rs. 12,000
(b) Rajiv Gandh'i Foundation ‘Rs. 8,000
(¢) Africa Fund Rs. 15,000
(@ Indira Gandhi Memorial Fund Rs. 14,000
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22.

23.

Calculate Income from House property from the following : 16.

Rs.
MV 6,000 p.m.
FRV 7,000 p.m.
SR 6,250 p.m.
Actual Rent 7,500 p.m.

The house has been let out from 1% Jan. 2005. In the year 2010,
and 2011, it was self-occupied. Again from 1¢ April 2011 it was
let out. During the current PY 2015—2016, half month rent could
not be realised. ‘

an.
BaFTL_& cur_eng WL 6,000 p.m.
Blwmuwrs eureens wdiy 7,000 p.m.
6,250 p.m.

7,500 p.m.

Hlaveowirar cur_ans

Quipp sum_ans

| ganeuffl, 1, 2005 opib CgHwienmy i eum_masE L tiulLLg. Qbs

ai® 2010 wHpmb 2011 yemge Qenps GRUIGLUES
Lwerul(ererg). am@ib, eriiged 1, 2011 apsed aur s GiulBLiyss
L ul erangl. wphmsw par® 2015-16 &, ey Mg auTLans
Qupliu_efldene. ‘

Gupsar edugriseiie 65 @ e aumorasdmer sansdOs.

From the following P & L a/c, calculate Income from Business. 17.

Rs.

To Rent and Rates 45,000
To Dep. on

Machinery 8,000
To Dep. on Furniture 2,000
To Purchase of Motor Car 50,000
To Car Expenditure - 3,000
To Advertisement (cash) 25,000
To Net Profit 4,67,000

6,00,000

Rs.
By Gross Profits  2,25,000
By Income from
other services 1,50,000
By Income from
capital gain 1,00,000
By Miscellaneous
Income 1,25,000

6,00,000
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Ms. Dihsha is employed in Delhi, and géts the following
emoluments (Assume population is 26 Lakhs)

Rs.
Basic salary \ 8,000 p.m.
DA 6,000 p.m.
(forming part)
Bonus . 10,000
CCcA 2,000 p.m.

Conveyance allowance Rs.500 p.m. (actual amount spent
Rs.4,000) ‘

She is provided with a rent free house, calculate taxable value of
perquisite. .
Qewvell Hsagm, QLoelliedr velwmpd), Gemeumd eadukismen
Quudprit. (wéseT QgTans 26 @i Fons cramanfls Asmars)
.
. S UL FUETLD 8,000 wrsi1b
Sisellenaliuig (Faiquig) 6,000 wrgb
* Gurestav 10,000

BETLILIG 2,000 wrgib

Curggeurggititg 5.500 wrgsdna,; 2 amamwwrer Gswe| p.4,000.
AUBEG, s @oor oI eflsstul @ererg. el
aNHIADGL L L ysmu wdlienus sarh Camers. ‘

From the following calculate GAV.

Rs.
Municipal Rental Value 4,00,000
Fair Rental Value (FRV)  3,75,000
Standard Rent 3,75,000

QAurss em®  euHLTRTISS M, ﬂsimj.@ummgbsmmé Qe (H
s (Bl &s.
.
BarTL_& eum_ena Ui 4,00,000
Bwumuwrer eur_ens wdiy  3,75,000

Hlevawirer eurLang 3,75,000
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18.

19.

20.

21.

Calculate Gross Annual value from the following :

Particulars House 1
MRV ; 1,10,000
FRV K 1,20,000
SR ' N.A.
Actual Rent (AR) with
no unrealised Rent and
vacancy period 1,40,000
Quorgs yer(h aupLTaSSmens sarss (H\s. '
efluruser & 1
Bagm_8l @Jrrl__cis’)e;s Sy 1,10,000

Bwimoren eurLensg Sl 1,20,000
Blevoowiren eur_ans . N.A.
Qupp aur_ana (EmeSlwimen

LIS WHYLD QUDLILL TS

UML) ' 1,40,000

Who should file the Return of Income?

wi m@mrfesr aufl grése Qe Geuar(Hitd?

PART C — (3 x 10 = 30 marks)

Answer any THREE questions.

House 2
1,15,000
1,10,000
1,20,000

1,20,000
S0 2
1,15,000

1,10,000
1,20,000

1,20,000

How will you determine the Residential status of an Individual?

g,cm;r)ur'r GWmLy Haeuleman ereucurm SiioreflliLig?

From the following, calculate Gross Salary.

Rs.

Basic salary 8,000 p.m.

Bonus . 5,000

DA 6,000 p.m.

(60% form part of salary)

Tiffin allowance 400 p.m.

Non-practicing allowance 250 p.m.
‘ 4 60139/BVZ5A/
BPF5C/BVC5A/

BPG5C

Rs.
Deputation allowance : 150 p.m.
Overtime allowance 250 p.m.
Special allowance 100 p.m.
Servant allowance : 75 p.m.
HRA . 1,000 p.m.
EA : 75 p.m.

The employee is a government servant and he resides in his own
house and works in Mysore. It is the usual practice to give 2% as
commission on turnover achieved. The turnover achieved by the
employee is Rs.50,000.

GeaumeuareupOl HHS!, FDLIET UL TASHmen SassHis. -

.

SiigILIGnL SDUETLD . 8,000 wrs58n@
Gurenen : . 5,000
siseflenaliLig (50% sbueTSgIL e 8%qu.u.lé|) 6,000 wrsbd
o Gmmayll Lig . | 400 wz1d
QFELPODWO®TSLI ‘ 250 gL
LOHMEUEHT SAEILILI Lilg. 150 orgb
2iflE Cur Ly 250 wngib:
Sy Lig ) 100 omgid
Gmémepyrrc‘n Uiy 75 wrgb
UG urLena Ly 1,000 wrsid
Coeflgena Lig. : 75 wrsb

Qair, @m <rs eamflui, owefld Qemps oilyd aflsfpr.
aupdsling 2% sflager efpuamenie 2 an@. Qurgsons @.50,000
&@ Qeum elpuienen QEig|eTeTm.
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